
How Create Matter from Light 

Physicists in England claim they have discovered how to create matter from 

light, by smashing together individual massless photons– a feat that was 

first theorized back in 1934, and has been considered practically 

impossible until now. If this new discovery pans out, the final piece of the 

physics jigsaw puzzle that describes how light and matter interact would 

be complete. No one’s quite sure of the repercussions if matter can indeed 

be produced from photon-photon collision, but I’m sure something 

awesomely scientific will emerge before long. [4] 

This paper explains the Special and General Relativity from the observed 

effects of the accelerating electrons, causing naturally the experienced 

changes of the electric field potential along the moving electric charges. 

The accelerating electrons explain not only the Maxwell Equations and the 

Special Relativity, but the Heisenberg Uncertainty Relation, the wave 

particle duality and the electron’s spin also, building the bridge between 

the Classical and Relativistic Quantum Theories.  

The changing acceleration of the electrons explains the created negative 

electric field of the magnetic induction, the electromagnetic inertia, the 

changing relativistic mass and the Gravitational Force, giving a Unified 

Theory of the physical forces. Taking into account the Planck Distribution 

Law of the electromagnetic oscillators also, we can explain the 

electron/proton mass rate and the Weak and Strong Interactions. 
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Preface  
Surprisingly nobody found strange that by theory the electrons are moving with a constant 

velocity in the stationary electric current, although there is an accelerating force F = q E, 

imposed by the E electric field along the wire as a result of the U potential difference. The 

accelerated electrons are creating a charge density distribution and maintaining the potential 

change along the wire. This charge distribution also creates a radial electrostatic field around 

the wire decreasing along the wire. The moving external electrons in this electrostatic field are 

experiencing a changing electrostatic field causing exactly the magnetic effect, repelling when 

moving against the direction of the current and attracting when moving in the direction of the 

current. This way the A magnetic potential is based on the real charge distribution of the 

electrons caused by their acceleration, maintaining the E electric field and the A magnetic 

potential at the same time. 



The mysterious property of the matter that the electric potential difference is self maintained by 

the accelerating electrons in the electric current gives a clear explanation to the basic sentence 

of the relativity that is the velocity of the light is the maximum velocity of the electromagnetic 

matter. If the charge could move faster than the electromagnetic field, this self maintaining 

electromagnetic property of the electric current would be failed. 

More importantly the accelerating electrons can explain the magnetic induction also. The 

changing acceleration of the electrons will create a –E electric field by changing the charge 

distribution, increasing acceleration lowering the charge density and decreasing acceleration 

causing an increasing charge density. 

Since the magnetic induction creates a negative electric field as a result of the changing 

acceleration, it works as an electromagnetic inertia, causing an electromagnetic mass. If the 

mass is electromagnetic, then the gravitation is also electromagnetic effect caused by the 

accelerating Universe! The same charges would attract each other if they are moving parallel by 

the magnetic effect. 

 

 

Scientists work out how create matter from light, to finally prove 

Einstein’s E=mc2 
Way back in 1930, British theoretical physicist Paul Dirac theorized that an electron and its 

antimatter counterpart (a positron) could be annihilated (combined) to produce two photons. 

Then, in 1934, two physicists — Breit and Wheeler — proposed that the opposite should also be 

true: That two photons could be smashed together to produce an electron and positron (a Breit-

Wheeler pair). In other words, that light can be converted into matter, and vice versa — or, to 

phrase it another way, E=mc2 works in both directions. This would close one of the last gaps in 

particle physics that has been theorized, but has proven very hard to prove through observation. 



 

Various photon-mass reactions, theorized and proven over the years 

The reason it’s proven hard to observe is that photons, a lot like neutrinos or electrons, are 

incredibly small. Furthermore, photons are massless. These two factors make it very, very hard 

to collide two photons together. Basically, the only real way of guaranteeing any collisions is to 

pump some beams of photons up to massive energy levels (think billions of times more 

energetic than normal visible light), inject them into a small space, and then hope that a few 

Breit-Wheeler pairs are created. 

That is essentially the crux of this new discovery: Steven Rose and Oliver Pike of Imperial College 

London have come up with a way of getting the photons up to the necessary energy levels to 

guarantee some collisions. They propose the use of a high-powered laser, which would then 

slam into a slab of gold, producing a high-intensity gamma ray (photons). Then, further down 

the line you would have a gold hohlraum (literally hollow space), also excited by a laser to 

produce a big, fat field of photons. You then smash the gamma ray into the hohlraum (pictured 

at the top of the story) and, according to Rose and Pike, you get some electrons and positrons 

flying out the other end. Voila: Proof that Breit and Wheeler knew what they were talking about. 

[doi:10.1038/nphoton.2014.95 – “A photon–photon collider in a vacuum hohlraum”] 

 

Photon-photon collider 



 

What a gamma ray burst might look like 

 

In nature, photon-photon collisions are thought to occur during gamma-ray bursts (GRBs). GRBs 

are the most violent explosions that our universe can produce — that we’ve discovered, anyway 

— and they occur vary rarely, usually during a super or hypernova. A nearby GRB would 

probably wipe out most of the life on Earth.  

Perhaps more importantly, though, it’s believed that the Big Bang itself — during the first 100 

seconds or so of the creation of the universe — would’ve also played host to these photon-

photon collisions. We desperately want to find out more about the universe’s first few seconds, 

and recreating some of those primordial processes here on Earth is one of the best ways of 

doing just that. 



For now, this discovery is purely theoretical — but Rose and Pike say that there are plenty of 

laboratories around the world that have the equipment to perform photon-photon collisions. 

High-power lasers are ten a penny nowadays, and hohlraums are usually used in fusion 

experiments. “The race to carry out and complete the experiment is on,” Pike says. [4] 

Simple Experiment 
Everybody can repeat my physics teacher's - Nándor Toth - middle school experiment, placing 

aluminum folios in form V upside down on the electric wire with static electric current, and 

seeing them open up measuring the electric potential created by the charge distribution, caused 

by the acceleration of the electrons.  

 

Figure 1.) Aluminium folios shows the charge distribution on the electric wire 

He wanted to show us that the potential decreasing linearly along the wire and told us that in 

the beginning of the wire it is lowering harder, but after that the change is quit linear.  

You will see that the folios will draw a parabolic curve showing the charge distribution along the 

wire, since the way of the accelerated electrons in the wire is proportional with the square of 

time. The free external charges are moving along the wire, will experience this charge 

distribution caused electrostatic force and repelled if moving against the direction of the electric 

current and attracted in the same direction – the magnetic effect of the electric current.  

Uniformly accelerated electrons of the steady current 
In the steady current I= dq/dt, the q electric charge crossing the electric wire at any place in the 

same time is constant. This does not require that the electrons should move with a constant v 

velocity and does not exclude the possibility that under the constant electric force created by 

the E = - dU/dx potential changes the electrons could accelerating. 

If the electrons accelerating under the influence of the electric force, then they would arrive to 

the x = 1/2 at
2
 in the wire. The dx/dt = at, means that every second the accelerating q charge 



will take a linearly growing length of the wire. For simplicity if a=2 then the electrons would 

found in the wire at x = 1, 4, 9, 16, 25 …, which means that the dx between them should be 3, 5, 

7, 9 …, linearly increasing the volume containing the same q electric charge. It means that the 

density of the electric charge decreasing linearly and as the consequence of this the U field is 

decreasing linearly as expected: -dU/dx = E = const. 

 

Figure 2.) The accelerating electrons created charge distribution on the electric wire 

This picture remembers the Galileo's Slope of the accelerating ball, showed us by the same 

teacher in the middle school, some lectures before. I want to thank him for his enthusiastic and 

impressive lectures, giving me the associating idea between the Galileo's Slope and the 

accelerating charges of the electric current. 

We can conclude that the electrons are accelerated by the electric U potential, and with this 

accelerated motion they are maintaining the linear potential decreasing of the U potential along 

they movement. Important to mention, that the linearly decreasing charge density measured in 

the referential frame of the moving electrons. Along the wire in its referential frame the charge 

density lowering parabolic, since the charges takes way proportional with the square of time. 

The decreasing U potential is measurable, simply by measuring it at any place along the wire. 

One of the simple visualizations is the aluminum foils placed on the wire opening differently 

depending on the local charge density. The static electricity is changing by parabolic potential 

giving the equipotential lines for the external moving electrons in the surrounding of the wire.  



Magnetic effect of the decreasing U electric potential 
One q electric charge moving parallel along the wire outside of it with velocity v would 

experience a changing U electric potential along the wire. If it experiencing an emerging 

potential, it will repel the charge, in case of decreasing U potential it will move closer to the 

wire. This radial electric field will move the external electric charge on the parabolic curve, on 

the equipotential line of the accelerated charges of the electric current. This is exactly the 

magnetic effect of the electric current. A constant force, perpendicular to the direction of the 

movement of the matter will change its direction to a parabolic curve. 

 

Figure 3.) Concentric parabolic equipotential surfaces around the electric wire causes 

the magnetic effect on the external moving charges 

Considering that the magnetic effect is F=q v x B, where the B is concentric circle around the 

electric wire, it is an equipotential circle of the accelerating electrons caused charge distribution. 

Moving on this circle there is no electric and magnetic effect for the external charges, since 

vxB=0. Moving in the direction of the current the electric charges crosses the biggest potential 

change, while in any other direction – depending on the angle between the current and velocity 

of the external charge there is a modest electric potential difference, giving exactly the same 

force as the v x B magnetic force. 

Getting the magnetic force from the F = dp/dt equation we will understand the magnetic field 

velocity dependency. Finding the appropriate trajectory of the moving charges we need simply 



get it from the equipotential lines 

charges of the electric current. 

the charges on the equipotential surfaces, since the force

according to the velocity angle 

velocity. 

Moving on the parabolic equipotential line gives the same result as the constant force of 

gravitation moves on a parabolic line with a constant velocity moving body. 

Necessary to mention that the A

acceleration of the charges in the electric current.

radial parabolic electric potential change of the charge distribution due to the acceleration of 

electric charges in the electric current.

Magnetic induction 
Increasing the electric current I causes increasing magnetic field 

of the electrons in the wire. If the acceleration of electrons is growing, than the charge density 

dQ/dl will decrease in time, creating a 

constant, only increasing U electric potential could cause an increasing electric current 

I=U/R=dQ/dt.  

Necessary to mention that decreasing electric current will decrease the acceleration of the 

electrons, causing increased charge density and 

The electric field is a result of the geometric change of the 

the A magnetic potential: 

E = - dA/dt - dU/dr 

The acceleration of the electric charges proportional with the A magnetic vector potential 

electric current and also their time 

potential is appears in the equation

equation. 

Since increasing acceleration of charges in the increasing 

potential difference, creating a decreasing potential difference

potential are changes by the next wave 

  

get it from the equipotential lines on the equipotential surfaces, caused by the accelerating 

 We can prove that the velocity dependent force causes to move 

s on the equipotential surfaces, since the force due to the potential difference

 – changing only the direction, but not the value of the charge

abolic equipotential line gives the same result as the constant force of 

gravitation moves on a parabolic line with a constant velocity moving body.  

A magnetic vector potential is proportional with a, th

charges in the electric current. Also the A magnetic vector potential gives the 

radial parabolic electric potential change of the charge distribution due to the acceleration of 

electric charges in the electric current.  

ectric current I causes increasing magnetic field B by increasing the acceleration 

If the acceleration of electrons is growing, than the charge density 

, creating a –E electric field. Since the resistance of the wire is 

constant, only increasing U electric potential could cause an increasing electric current 

Necessary to mention that decreasing electric current will decrease the acceleration of the 

electrons, causing increased charge density and E positive field. 

The electric field is a result of the geometric change of the U potential and the timely change of

 

The acceleration of the electric charges proportional with the A magnetic vector potential 

time dependence are proportional as well. Since the A vector 

equation, the proportional a acceleration will satisfy the same 

Since increasing acceleration of charges in the increasing electric current the result of increasing 

potential difference, creating a decreasing potential difference, the electric and magnetic vector 

next wave - function equations: 

the accelerating 

velocity dependent force causes to move 

due to the potential difference 

changing only the direction, but not the value of the charge's 

abolic equipotential line gives the same result as the constant force of 

the 

magnetic vector potential gives the 

radial parabolic electric potential change of the charge distribution due to the acceleration of 

by increasing the acceleration 

If the acceleration of electrons is growing, than the charge density 

tance of the wire is 

constant, only increasing U electric potential could cause an increasing electric current 

Necessary to mention that decreasing electric current will decrease the acceleration of the 

potential and the timely change of 

The acceleration of the electric charges proportional with the A magnetic vector potential in the 

Since the A vector 

acceleration will satisfy the same 

electric current the result of increasing 

, the electric and magnetic vector 



The simple experiment with periodical changing 

aluminium folios with a moving wave along the wire.

The Lorentz gauge says exactly that the accelerating charges are self

fields and the divergence (source) of the A vector potential is the timely change of the electric 

potential.  

 

Or 

.  

The timely change of the A vector potential 

produce a negative electric field

Lorentz transformation of the Special Relativity
In the referential frame of the accelerating electrons the charge density lowering linearly 

because of the linearly growing way they takes every next time period. From the 

frame of the wire there is a parabolic charge density lowering

The difference between these two referential frames, namely the referential frame of the wire 

and the referential frame of the moving electrons gives the relativistic effect. Important to say 

that the moving electrons presenting the time coordinate, since the electrons are taking li

increasing way every next time period, and the wire presenting the geometric coordinate. The 

Lorentz transformations are based on moving light sources of the Michelson 

experiment giving a practical method to transform time and geometric coo

explaining the source of this mystery. 

The real mystery is that the accelerating charges are maintaining the accelerating force with 

their charge distribution locally. 

results of the diffraction patterns

same thing. Otherwise the charges could exceed the velocity of the electromagnetic field.

The increasing mass of the electric charges the result of the increasing

acting against the accelerating force. The decreasing mass of the decreasing acceleration is the 

result of the inductive electric force acting against the decreasing force.

 

The simple experiment with periodical changing U potential and I electric current will move the 

aluminium folios with a moving wave along the wire. 

says exactly that the accelerating charges are self maintain their accelerator 

fields and the divergence (source) of the A vector potential is the timely change of the electric 

The timely change of the A vector potential or the changing acceleration of the charges will 

produce a negative electric field. 

Lorentz transformation of the Special Relativity 
frame of the accelerating electrons the charge density lowering linearly 

because of the linearly growing way they takes every next time period. From the referential 

frame of the wire there is a parabolic charge density lowering. 

e two referential frames, namely the referential frame of the wire 

and the referential frame of the moving electrons gives the relativistic effect. Important to say 

that the moving electrons presenting the time coordinate, since the electrons are taking li

increasing way every next time period, and the wire presenting the geometric coordinate. The 

Lorentz transformations are based on moving light sources of the Michelson - Morley 

experiment giving a practical method to transform time and geometric coordinates without 

explaining the source of this mystery.  

The real mystery is that the accelerating charges are maintaining the accelerating force with 

their charge distribution locally. The resolution of this mystery that the charges are 

of the diffraction patterns, that is the charges and the electric field are two sides of the 

Otherwise the charges could exceed the velocity of the electromagnetic field.

The increasing mass of the electric charges the result of the increasing inductive electric force 

acting against the accelerating force. The decreasing mass of the decreasing acceleration is the 

result of the inductive electric force acting against the decreasing force. This is the relativistic 

electric current will move the 

intain their accelerator 

fields and the divergence (source) of the A vector potential is the timely change of the electric 

or the changing acceleration of the charges will 

frame of the accelerating electrons the charge density lowering linearly 

referential 

e two referential frames, namely the referential frame of the wire 

and the referential frame of the moving electrons gives the relativistic effect. Important to say 

that the moving electrons presenting the time coordinate, since the electrons are taking linearly 

increasing way every next time period, and the wire presenting the geometric coordinate. The 

Morley 

rdinates without 

The real mystery is that the accelerating charges are maintaining the accelerating force with 

are simply the 

that is the charges and the electric field are two sides of the 

Otherwise the charges could exceed the velocity of the electromagnetic field. 

inductive electric force 

acting against the accelerating force. The decreasing mass of the decreasing acceleration is the 

This is the relativistic 



mass change explanation, especially importantly explaining the mass reduction in case of 

velocity decrease. 

The Classical Relativistic effect 
The moving charges are self maintain the electromagnetic field locally, causing their movement 

and this is the result of their acceleration under the force of this field.  

In the classical physics the charges will distributed along the electric current so that the electric 

potential lowering along the current, by linearly increasing the way they take every next time 

period because this accelerated motion. 

The ether problem resolution is the matter as diffraction patterns of the electromagnetic 

oscillations. Also the accelerating charges (matter) maintaining the accelerating force with 

linearly changing potential is the secret of the relativity. Because of this the Michelson-Morley 

experiment doesn't show an existence of the ether, the electromagnetic oscillations always 

creates diffraction patterns, electrodynamics' matter, functioning as the ether. [1] 

 

The Relativistic Quantum Mechanics 
The same thing happens on the atomic scale giving a dp impulse difference and a dx way 

difference between the different part of the not point like particles.  

Commonly accepted idea that the relativistic effect on the particle physics it is the fermions' spin 

- another unresolved problem in the classical concepts. If the electric charges can move only 

with accelerated motions in the self maintaining electromagnetic field, once upon a time they 

would reach the velocity of the electromagnetic field. The resolution of this problem is the 

spinning particle, constantly accelerating and not reaching the velocity of light because the 

acceleration is radial. 

 

Heisenberg Uncertainty Relation 
In the atomic scale the Heisenberg uncertainty relation gives the same result, since the moving 

electron in the atom accelerating in the electric field of the proton, causing a charge distribution 

on delta x position difference and with a delta p momentum difference such a way that they 

product is about the half Planck reduced constant. For the proton this delta x much less in the 

nucleon, than in the orbit of the electron in the atom, the delta p is much higher because of the 

greater proton mass. 

This means that the electron and proton are not point like particles, but has a real charge 

distribution.  



Wave – Particle Duality 
The accelerating electrons explains the wave – particle duality of the electrons and photons, 

since the elementary charges are distributed on delta x position with delta p impulse and 

creating a wave packet of the electron. The photon gives the electromagnetic particle of the 

mediating force of the electrons electromagnetic field with the same distribution of 

wavelengths.   

Atomic model 
The constantly accelerating electron in the Hydrogen atom is moving on the equipotential line of 

the proton and it's kinetic and potential energy will be constant. Its energy will change only 

when it is changing its way to another equipotential line with another value of potential energy 

or getting free with enough kinetic energy. This means that the Rutherford-Bohr atomic model is 

right and only that changing acceleration of the electric charge causes radiation, not the steady 

acceleration. The steady acceleration of the charges only creates a centric parabolic steady 

electric field around the charge, the magnetic field. This gives the magnetic moment of the 

atoms, summing up the proton and electron magnetic moments caused by their circular 

motions and spins. 

Electromagnetic inertia and Gravitational attraction 
Since the magnetic induction creates a negative electric field as a result of the changing 

acceleration, it works as an electromagnetic inertia, causing an electromagnetic mass.  

It looks clear that the growing acceleration results the relativistic growing mass - limited also 

with the velocity of the electromagnetic wave.   

Since E = hν and E = mc
2
, m = hν /c

2
 that is the m depends only on the ν frequency. It means that 

the mass of the proton and electron are electromagnetic and the result of the electromagnetic 

induction, caused by the changing acceleration of the spinning and moving charge! It could be 

that the mo inertial mass is the result of the spin, since this is the only accelerating motion of the 

electric charge. Since the accelerating motion has different frequency for the electron in the 

atom and the proton, they masses are different, also as the wavelengths on both sides of the 

diffraction pattern, giving equal intensity of radiation. 

If the mass is electromagnetic, then the gravitation is also electromagnetic effect caused by the 

accelerating Universe! The same charges would attract each other if they are moving parallel by 

the magnetic effect. 

The Planck distribution law explains the different frequencies of the proton and electron, giving 

equal intensity to different lambda wavelengths! Also since the particles are diffraction patterns 

they have some closeness to each other – can be seen as a gravitational force. 



Electromagnetic inertia and mass 

Electromagnetic Induction 

Since the magnetic induction creates a negative electric field as a result of the changing 

acceleration, it works as an electromagnetic inertia, causing an electromagnetic mass.  [1] 

Relativistic change of mass 

The increasing mass of the electric charges the result of the increasing inductive electric force 

acting against the accelerating force. The decreasing mass of the decreasing acceleration is the 

result of the inductive electric force acting against the decreasing force. This is the relativistic 

mass change explanation, especially importantly explaining the mass reduction in case of 

velocity decrease. 

The frequency dependence of mass 

Since E = hν and E = mc
2
, m = hν /c

2
 that is the m depends only on the ν frequency. It means that 

the mass of the proton and electron are electromagnetic and the result of the electromagnetic 

induction, caused by the changing acceleration of the spinning and moving charge! It could be 

that the mo inertial mass is the result of the spin, since this is the only accelerating motion of the 

electric charge. Since the accelerating motion has different frequency for the electron in the 

atom and the proton, they masses are different, also as the wavelengths on both sides of the 

diffraction pattern, giving equal intensity of radiation. 

Electron – Proton mass rate 

The Planck distribution law explains the different frequencies of the proton and electron, giving 

equal intensity to different lambda wavelengths! Also since the particles are diffraction patterns 

they have some closeness to each other – can be seen as a gravitational force. [1] 

There is an asymmetry between the mass of the electric charges, for example proton and 

electron, can understood by the asymmetrical Planck Distribution Law. This temperature 

dependent energy distribution is asymmetric around the maximum intensity, where the 

annihilation of matter and antimatter is a high probability event. The asymmetric sides are 

creating different frequencies of electromagnetic radiations being in the same intensity level 

and compensating each other. One of these compensating ratios is the electron – proton mass 

ratio. The lower energy side has no compensating intensity level, it is the dark energy and the 

corresponding matter is the dark matter. 

Higgs mechanism 

The magnetic induction creates a negative electric field, causing an electromagnetic inertia. 

Probably it is the mysterious Higgs field giving mass to the charged particles? We can think 

about the photon as an electron-positron pair, they have mass. The neutral particles are built 

from negative and positive charges, for example the neutron, decaying to proton and electron. 

The wave – particle duality makes sure that the particles are oscillating and creating magnetic 

induction as an inertial mass, explaining also the relativistic mass change. Higher frequency 



creates stronger magnetic induction, smaller frequency results lesser magnetic induction. It 

seems to me that the magnetic induction is the secret of the Higgs field. 

In particle physics, the Higgs mechanism is a kind of mass generation mechanism, a process that 

gives mass to elementary particles. According to this theory, particles gain mass by interacting 

with the Higgs field that permeates all space. More precisely, the Higgs mechanism endows 

gauge bosons in a gauge theory with mass through absorption of Nambu–Goldstone bosons 

arising in spontaneous symmetry breaking. 

The simplest implementation of the mechanism adds an extra Higgs field to the gauge theory. 

The spontaneous symmetry breaking of the underlying local symmetry triggers conversion of 

components of this Higgs field to Goldstone bosons which interact with (at least some of) the 

other fields in the theory, so as to produce mass terms for (at least some of) the gauge bosons. 

This mechanism may also leave behind elementary scalar (spin-0) particles, known as Higgs 

bosons. 

In the Standard Model, the phrase "Higgs mechanism" refers specifically to the generation of 

masses for the W
±
, and Z weak gauge bosons through electroweak symmetry breaking. The 

Large Hadron Collider at CERN announced results consistent with the Higgs particle on July 4, 

2012 but stressed that further testing is needed to confirm the Standard Model. 

 

Fermions' spin 
The moving charges are accelerating, since only this way can self maintain the electric field 

causing their acceleration. The electric charge is not point like! This constant acceleration 

possible if there is a rotating movement changing the direction of the velocity. This way it can 

accelerate forever without increasing the absolute value of the velocity in the dimension of the 

time and not reaching the velocity of the light.   

The Heisenberg uncertainty relation says that the minimum uncertainty is the value of the spin: 

1/2 h = dx dp or 1/2 h = dt dE, that is the value of the basic energy status, consequently related 

to the mo inertial mass of the fermions. The source of the mass is the changing acceleration of 

the charge, in the case of the spin the absolute value of the acceleration is constant, but the 

direction is constantly changing since it is radial, because of this the mo inertial mass of the 

fermions constant. 

The photon's 1 spin value and the electric charges 1/2 spin gives us the idea, that the electric 

charge and the electromagnetic wave two sides of the same thing, 1/2 – (-1/2) = 1. 

Fine structure constant 

 



The Planck constant was first described as the 

a photon and the frequency ν of its associated 

energy and frequency is called the 

 

 

Since the frequency ν, wavelength

relation can also be expressed as

 

Since this is the source of the Planck constant, the e electric charge countable from the Fine 

structure constant. This also related to the Heisenberg uncertainty relation, saying that the mass 

of the proton should be bigger than

wavelengths, since E = mc
2
. 

The expression of the fine-structure constant becomes the abbreviated

 

This is a dimensionless constant expression, 1/137 commonly appearing in physics literature.

This means that the electric charge is a result of the electromagnetic waves diffractions, 

consequently the proton – electron mass rate is the result of the equal intensity of the 

corresponding electromagnetic frequencies in the Planck distribution law

Planck Distribution Law
The Planck distribution law explains the different frequencies of the proton and electron, giving 

equal intensity to different lambda wavelengths!

charge in the diffraction pattern from one side

momentum change, which violates the CP and time reversal symmetry.

The Planck distribution law is temperature dependent and it should be true locally and globally. I 

think that Einstein's energy-matter equival

electromagnetic oscillations enabled by the temperature, creating the different matter 

formulas, atoms, molecules, crystals, dark matter and energy.

One way dividing the proton to three parts is, dividing his oscillatio

the space. We can order 1/3 e charge to each coordinates and 2/3 

oscillation, because the charge is scalar. In this way the proton has two +2/3 

and one linear oscillation with -

directions of coordinates and the proton is colorless.

The Planck constant was first described as the proportionality constant between the 

of its associated electromagnetic wave. This relation between the 

energy and frequency is called the Planck relation or the Planck–Einstein equation:

wavelength λ, and speed of light c are related by λν = c, the Planck 

can also be expressed as 

Planck constant, the e electric charge countable from the Fine 

structure constant. This also related to the Heisenberg uncertainty relation, saying that the mass 

of the proton should be bigger than the electron mass because of the difference between their 

structure constant becomes the abbreviated 

This is a dimensionless constant expression, 1/137 commonly appearing in physics literature.

means that the electric charge is a result of the electromagnetic waves diffractions, 

electron mass rate is the result of the equal intensity of the 

corresponding electromagnetic frequencies in the Planck distribution law. 

Distribution Law 
The Planck distribution law explains the different frequencies of the proton and electron, giving 

equal intensity to different lambda wavelengths! The weak interaction transforms an electric 

charge in the diffraction pattern from one side to the other side, causing an electric dipole 

momentum change, which violates the CP and time reversal symmetry. 

The Planck distribution law is temperature dependent and it should be true locally and globally. I 

matter equivalence means some kind of existence of 

electromagnetic oscillations enabled by the temperature, creating the different matter 

molecules, crystals, dark matter and energy. 

One way dividing the proton to three parts is, dividing his oscillation by the three direction of 

charge to each coordinates and 2/3 e charge to one plane 

oscillation, because the charge is scalar. In this way the proton has two +2/3 e plane oscillation 

-1/3 e charge. The colors of quarks are coming from the three 

directions of coordinates and the proton is colorless. [1] 

between the energy E of 

. This relation between the 

: 

, the Planck 

Planck constant, the e electric charge countable from the Fine 

structure constant. This also related to the Heisenberg uncertainty relation, saying that the mass 

rence between their 

This is a dimensionless constant expression, 1/137 commonly appearing in physics literature. 

means that the electric charge is a result of the electromagnetic waves diffractions, 

electron mass rate is the result of the equal intensity of the 

The Planck distribution law explains the different frequencies of the proton and electron, giving 

The weak interaction transforms an electric 

to the other side, causing an electric dipole 

The Planck distribution law is temperature dependent and it should be true locally and globally. I 

electromagnetic oscillations enabled by the temperature, creating the different matter 

n by the three direction of 

charge to one plane 

plane oscillation 

rge. The colors of quarks are coming from the three 



Gravity from the point of view of quantum physics 

The Gravitational force 

The gravitational attractive force is basically a magnetic force. 

The same electric charges can attract one another by the magnetic force if they are moving 

parallel in the same direction. Since the electrically neutral matter is composed of negative and 

positive charges they need 2 photons to mediate this attractive force, one per charges. The Bing 

Bang caused parallel moving of the matter gives this magnetic force, experienced as 

gravitational force. 

Since graviton is a tensor field, it has spin = 2, could be 2 photons with spin = 1 together. 

You can think about photons as virtual electron – positron pairs, obtaining the necessary virtual 

mass for gravity. 

The mass as seen before a result of the diffraction, for example the proton – electron mass rate 

Mp=1840 Me. In order to move one of these diffraction maximum (electron or proton) we need 

to intervene into the diffraction pattern with a force appropriate to the intensity of this 

diffraction maximum, means its intensity or mass. 

 

The Big Bang caused acceleration created radial currents of the matter, and since the matter is 

composed of negative and positive charges, these currents are creating magnetic field and 

attracting forces between the parallel moving electric currents. This is the gravitational force 

experienced by the matter, and also the mass is result of the electromagnetic forces between 

the charged particles.  

The positive and negative charged currents attracts each other or by the magnetic forces or by 

the much stronger electrostatic forces!? 

 

The gravitational force attracting the matter, causing concentration of the matter in a small 

space and leaving much space with low matter concentration: dark matter and energy.  

There is an asymmetry between the mass of the electric charges, for example proton and 

electron, can understood by the asymmetrical Planck Distribution Law. This temperature 

dependent energy distribution is asymmetric around the maximum intensity, where the 

annihilation of matter and antimatter is a high probability event. The asymmetric sides are 

creating different frequencies of electromagnetic radiations being in the same intensity level 

and compensating each other. One of these compensating ratios is the electron – proton mass 

ratio. The lower energy side has no compensating intensity level, it is the dark energy and the 

corresponding matter is the dark matter. 

 

The Graviton 

In physics, the graviton is a hypothetical elementary particle that mediates the force of 

gravitation in the framework of quantum field theory. If it exists, the graviton is expected to be 

massless (because the gravitational force appears to have unlimited range) and must be a spin-2 

boson. The spin follows from the fact that the source of gravitation is the stress-energy tensor, a 



second-rank tensor (compared to electromagnetism's spin-1 photon, the source of which is the 

four-current, a first-rank tensor). Additionally, it can be shown that any massless spin-2 field 

would give rise to a force indistinguishable from gravitation, because a massless spin-2 field 

must couple to (interact with) the stress-energy tensor in the same way that the gravitational 

field does. This result suggests that, if a massless spin-2 particle is discovered, it must be the 

graviton, so that the only experimental verification needed for the graviton may simply be the 

discovery of a massless spin-2 particle. [2] 

 

Conclusions 

Needless to say that the accelerating electrons of the steady stationary current are a simple 

demystification of the magnetic field, by creating a decreasing charge distribution along the 

wire, maintaining the decreasing U potential and creating the A vector potential experienced by 

the electrons moving by v velocity relative to the wire. This way it is easier to understand also 

the time dependent changes of the electric current and the electromagnetic waves as the 

resulting fields moving by c velocity.  

It could be possible something very important law of the nature behind the self maintaining E 

accelerating force by the accelerated electrons. The accelerated electrons created 

electromagnetic fields are so natural that they occur as electromagnetic waves traveling with 

velocity c. It shows that the electric charges are the result of the electromagnetic waves 

diffraction. 

One of the most important conclusions is that the electric charges are moving in an accelerated 

way and even if their velocity is constant, they have an intrinsic acceleration anyway, the so 

called spin, since they need at least an intrinsic acceleration to make possible they movement . 

The bridge between the classical and quantum theory is based on this intrinsic acceleration of 

the spin, explaining also the Heisenberg Uncertainty Principle. The particle – wave duality of the 

electric charges and the photon makes certain that they are both sides of the same thing. Basing 

the gravitational force on the accelerating Universe caused magnetic force and the Planck 

Distribution Law of the electromagnetic waves caused diffraction gives us the basis to build a 

Unified Theory of the physical interactions.  

The electric currents causing self maintaining electric potential is the source of the special and 

general relativistic effects.  The Higgs Field is the result of the electromagnetic induction. The 

Graviton is two photons together. [3] 
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